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    

 

MEKOL 1950 
   

 

 

MEKOL 1950      .    
 
  
          
       .  
    ,    ,     
MEKOL B10.          
    – . 90°C,          
 55°C. 
 
- : 

 : 

          
        ,    –  

  
       ,   
      20°C 
(ISO 2555, vr. 5 / 20 .-1

)     300 - 600    
 pH (ISO 976)      . 7,5 
        80°C     

(     
   ) 

        
   

      
 
 - MEKOL B10: 

         
           
       Xn -   ,   

  
(.   
  ) 

 : 
    1000  :    25 – 50   
 :     . 10 . (   

t ) 
 

   

        .  
     : ,   
 , ,      .   

           
(        ).  
     ,    -   
,      (  ) –  .  
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   : 

 ,     18 - 20° 
 : 
-,      50-80 /2 

-       100-120 /2 

       2,5 – 4  
       1,5  
       . 20 –60  

(     
 ,  
 ,   
 .    
 ).   

      . 70°C    
. 80°C   
(    
  ) 

 
  –  :  
       ,     ,   
   . 
 
 : 
       100°C 
       85  
        0,5  
          40   
       4 -   
 
         . 
 
  

,        ,    . 
 

 

 A 
        30  ()   
   –   
 B 
       0,75  
 
 

            + 5°  + 25°.  
  !  
         6 .  
        . 
 
 
           ,     ,  
 -.   
-        -     
 .               . 
      .  
-       ,         
        -.     
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